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1141[54R BmE 1 5 0 5 5 0 0 0 0 864 0
& 4 40 0 40 10 0 0 0 1728 0 1512
GhH 5 45 0 45
1201|833 EF 262 3930 0 3930 15 0 0 0 1836 0 810
GhH 262 3930 0 3930
1203|F ¥ AY HE 5 50 0 50 10 0 0 0 0 1296 0
BHE 52 780 0 780 15 0 0 0 0 810 0
=% 23 230 0 230 10 0 0 0 0 864 0
=% 50 750 0 750 15 0 0 0 0 1134 0
& 130 1810 0 1810
1204[Glh—J)L [EH 20 200 0 200 10 0 0 0 0 1026 0
ED 20 200 0 200
1207[F& GH 950 95 95 0
1209| A& dLiEE 10 50 0 50 5 0 0 0 2916 0 2700
(&) 10 50 0 50
1221 =i [E)) 8 11 0 11
1227[ K3 RE 23 9 9 0 0.4 0 178 0 0 0 0
12 hel 250 50 0 50 0.2 0 0 0 130 0 108
(&) 273 59 9 50
1245[/D A EE 200 40 0 40 0.2 0 0 0 0 162 0
EE 355 142 142 0 0.4 194 0 119 0 0 0
(&) 1055 282 142 140
1301 |HF ] 260 130 0 130 0.5 0 0 0 248 0 151
e 50 250 0 250 5 0 0 0 3024 0 2160
#mE 3 18 0 18 6 0 0 0 1944 0 1296
(&) 546 640 0 640
1311[FF IR 2 54 216 0 216 4 0 0 0 3780 0 2808
(&) 54 216 0 216
1321 [HK BiE 83 415 0 415 5 0 0 0 2376 0 1188
[E)) 99 495 0 495
1331 [MFEHe  [dtiEE 485 4850 0 4850 10 0 0 0 2484 0 1620
Eh 485 4850 0 4850
13B1E—<> [EE 150 23 0 23 0.15 0 0 0 140 0 135
Eh 151 28 0 28
1355|455 BERS 240 24 0 24 0.1 0 0 0 0 97 0
[&0) 480 48 0 48
1501 [HE EE 39 195 0 195 5 0 0 0 1728 0 864
Eh 39 195 0 195
1511|5#HE dLiEE 200 2000 0 2000 10 0 0 0 0 1026 0
Eh 200 2000 0 2000
1541 | E& dLiEE 510 10200 0 10200 20 0 0 0 2484 0 1944
Eh 510 10200 0 10200
1603|tz)L)— [E%H 6 60 0 60 10 0 0 0 4536 0 2700
Eh 6 60 0 60
1609|7Aval) |EH 5 30 0 30 6 0 0 0 0 4104 0
Gh 5 30 0 30
1611[LBR E% 5 25 0 25 5 0 0 0 2376 0 1836
f=554 9 90 0 90 10 0 0 0 2700 0 2376
(&) 14 115 0 115
1612| =L 3R |EF 12 60 0 60 5 0 0 0 2376 0 1620
(&) 12 60 0 60
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1627|2=k<k [&D) 112 202 0 202
1705| £ = fa 180 14 0 14 0.08 0 0 0 0 56 0
=0 90 9 0 9 0.1 0 0 0 0 67 0
& 424 51 0 51
1715| K% =0 20 2 0 2 0.1 0 0 0 648 0 378
& 20 2 0 2
1803 | EHEE EE 540 54 0 54 0.1 0 0 0 135 0 103
S 180 36 0 36 0.2 0 0 0 77 0 66
GhH 720 90 0 90
1807|#8E E& 150 15 0 15 0.1 0 0 0 0 52 0
f=554 930 186 0 186 0.2 0 0 0 97 0 80
& 1080 201 0 201
1809[L&L EH 500 50 0 50 0.1 0 0 0 0 50 0
EF 1350 270 0 270 0.2 0 0 0 89 0 81
(&) 1850 320 0 320
* S EEET * 16826 51783 397 51386
2611|E4A—% [ELl 32 13 0 13 0.4 0 0 0 464 0 356
(&) 32 13 0 13
2616|]SAAL _ [ELWL 16 6 0 6 0.4 0 0 0 0 821 0
(&) 16 6 0 6
2821 [#EIER EE 100 40 0 40 0.4 0 0 0 508 0 486
RE 288 144 0 144 0.5 0 0 0 410 0 281
[E)) 388 184 0 184
* EEET * 872 406 0 406




